| Efficiency vs Dxy |
.05
S S N N T N T T
]

] e e S
o S R N T
e R 1 AR 0 S A
© Foo : : : : : : : :
0.03F it oo
0.025f i o
o.ozi—----f----- K A s S S
e

ot b b g
oaogf-- | P
o+

Rat

=
!
-
H

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFit100__RECO

oL —«— DQM_V0001_R000000001__Global _mkFit100tobtec_ RECO
N . N T N T
N ; ;

7| SRS NANE N SRS M S
oy : : : : :

GOBL
(&) B B B H H

.07 pree ) A frorereees frreees A [ A
o : : : : :

] e Mot e
L e
0.0af |l J AL
0.03 : :

0.02

A *+¢¢,...-...¢+*++ fl gL

0.01 -
o+

* .
*|

Rati

LIS L N ||||!||II!LIII!

0936520 -10 0 10 20 30

TP dz (cm)

|
W
o



	Contents
	Page 1


